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Integration of the Exponential and Logarithmic functions :

Let u = f(x) ,where f(x) is a differentiable function of x.

1.f%=ln lu|+c.

2. [e*du=e"+c.
u e

3. Jatdu=—+c.

Examples:- Evaluate the following integrals
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6.f cot® (10x) dx = [ cot*(10x).cot (10x) dx
= j(cscz(lﬂx) —1).cot (10x) dx
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= f(cscz(lox) cot (10x) — cot (10x) ) dx
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9. [ dx = fl()dx—lnlln(x)|+C

x In(x)

10. Prove [ tan(x) dx = In|sec(x)| +¢c ???
—f tan(x) dx = [ tan(x) * eCW) gy = [ tan(x)sect) qx

sec(x) sec(x)
= In|sec(x)| +c

11. [ sec?*(3x) et™BVdx = % [ 3sec?(x) et mB3¥)dx

— letan(Bx) + c.

12. f—dx—e\/_+c

13. [x.e"™dx = [x.e™ 'dx =[x xldx

1
=jx.;dx=j1dx=x+c.

HW
1. Prove [ cot(x) dx = In|sin(x)|+c??H.W.
2.Find the following integral [ sin3(x)cos*(x)dx??H.W




